i BT WA AR AT 2 2 e A
wEwE | i =R =wE | kst WHE T & e T % B AT Y
BERE L (1) (5445 135 1 E-BIR)
e & = (it 3 Hef =)

T % { 4 B BB T ST i) H AR A O fth (e T8

T % 4 R T R R ET 825

56 Rk B OBR A B OB 99 H
AN
@A & % M N ROEED

(5b BB O 7 1 B B R 24 4 Y )




(&L - B )
4 R TR~ W 8 | Bz Bl 4 FE e} G
Azb  H% Hifli A %St
I TE{fik% HE TR —{ 11,280,000
IR T — 1,128,000 | T ik X 10%

«

B
o>
Wi

12,408,000




H (e - 3 JH)
% P o B 1% B B | BAL A & it P2
Aa—} B Biffi  Fgest
I T {ffifk AT
A EEETHER
a—1 St el — 4,928,121 | %98 ¢ 71136
a—2 St SE LS e fiE —= 135,926 | %95t 1796
a=3. T O sE —3 1,247,312 | %98t | 19470
a—4. 4% —= 1,054,781 | 3¢10t 328464
& 8 7,366,140
B Jtim e
b-1 Him i Ek —: 915,031
b-2 FHRE — 3,014,529
& 8 3,929,560
C Fp ks —3 -15,700
a & -15,700

=
2>
W

11,280,000




H (&L - B )
4 R oo B Sh Ik B % | ¥ Bl & KA e} G2
Aa—} B3 WL AR
B HLidE s
b-1 @R 2
CRILIRSY)
PRI R —3 214,031
N E 214,031
(F& 2 BT 4)
H—N7x AFEUE H: 18002 7Y — LA
PRV (=D 4k) HZafa e — 167,000 | A1010 136]  14.95 82 166722.4
B =87z AFEAE H: 18002 /) — ELith
PRPAV (—FED 3E) EXIEE T GER L — 1 330,000 | A1011 136; 2423.4 1 329582.4
AL P (ZiEFEE B) —3 204,000 | A1052 1§ 14600 145 204400
N E 701,000
2 915,031




(e - 3 JH)
% P o B 1% B B | BAL A & 1 2
AT B% Biffi  Fgest
b-2 FH R
R —30 3,014,529

3,014,529




(5 - i 1)
% P T S N S B % | B H A & i P2
As-b B M RSt
C FEM itk
HRA A iR Bt 0.4] [t] 39,250 -15,700 | B
& i ~15,700




H (L - A )
g4 PR LT U B 7 B | BAL Al & 14 G4
ATE BN Hifi H%Cs it

a— 1AMl SE
LAXH —3 1,497,839 |3%9/)\aki 21888
2.BIX —3 648,706 |%9/N\EtE 6912
3.CIX[H] —3 413,832 [ 9/IEH 2304
4.DIX M —3L 1,602,196 [3%9/\at: 28512
5.E[X[H] —3 765,548 |3%9/NEH 11520

i 4,928,121 | %93t | 71136

4,928,121




P (R -3 H)
4 g g B STk B % | HAr B Al & i o
Az B Hifli Bt

LAXR
BA —f% —3 5,740 | A1088 15.6; 367.73 5736.59
LG E ) QRCitE SRIED I —3K 3,350 | A1090 15.6; 214.69 3349.16
ERERE FRYIVILR L (N v7470.13m3) —3X 41,100 | A1384 1i 41100 41100
jirsoIl) SNy 750.13~0.28m3 12.2] (m3) 910 11,102 [ A1416
HEAEL ANy 7570.13~0.28m3 Zun'd 4.6] (m3) 1,820 8,372 | A1428
R AE IR SN Y 78590.13m3% 7 My 20 F. 7.6] (m3) 3,250 24,700 | A1445
EER I A ALy R 7.6 (m3) 2,880 21,888 | A1447 i %9

116,252



(5t - i D)

g4 B = S B | BAL Al & 14 G4
ATE BN Hifli A it
Y5 (RC-40) 2t-4tHE 1.7] m3 6,130 10,421 | A1480
a7y —h Fcl8 S=15 MEE 0.8 [m3] 18,800 15,040 [ A1486
FIE%F FERERER — 6,750 | A1493 0.5{ 13500 6750
V)Y METERER : 7V ABEHE) Fc=21 =15 M+Ht(E" 7) 6.2| m3 21,300 132,060 [ (1)
Y)YV TR AR 2| [ 90,000 180,000 | A1546
T8 AR R P Al 21-15 —27-15 — 7,440 | A1560 6.2i 1200 7440
T B RCHEREY) (R T— A - BER)  FERENR 10.4| nf 3,280 34,112 | A1573
FIRORR: S AR(CHE) RCHEREY) (- T— A - BER)  FERENR 10.4| nof 3,410 35,464 | A1584
F1 e e & C Aif H AW —3k 5,510 | A1603 10.4 530 5512
T e A AHLL T —3\ 4,780 | A1606 20.8 230 4784
TIABAMTIAR 7284 MNE20mm 0.2 nf 8,280 1,656 | A1608

433,233




H (e - B )
£ b g B STk B % | HAr B Al & 1 C2)
Az} B3 Wil B it
HIBEAHD-10 SD-295A 0.19] [t] 92,000 17,480 B
HIBEAHD-13 SD-295A 0.08] [t] 90,000 7,200 B
S RN TR ST /NI EEY) SEREBIR 0.27] ® 84,200 22,734 | A1642
TERE AHLLT —3 1,080 | A1660 0.278 4000 1080
K= 7V —hEE UL RIS 26.0] m 510 13,260 | (2)
HEEL 7= % A H:2,000 NV HEHRE e 26.0| m 34,100 886,600 | A
JNE 1,497,839 |3%9/NEFi 21888

948,354



H (e - B Ai )
g4 B = S B | BAL Al & 14 o
AT B Hifli A

2.BIX.[H
belibig — i —3L 1,730 | A1088 4.7% 367.73 1728.33
SHUE SRR E ) QRCitE SRIED I —-Y 1,010 | A1090 4.71 214.69 1009.04
irssil) Bty 570.13~0.28m3 3.7] (m3) 910 3,367 | A1416
HRL bR/ 870.13~0.28m3  Aond 1.3] (m3) 1,820 2,366 | A1428
A ER R AR BN v 7870.13m3% V7 M v 2t HL 2.4| (m3) 3,250 7,800 | A1445
REER A 1ALy B 2.4| (m3) 2,880 6,912 | A1447 | %9

23,185



aull
P=si

(5L - R D)
% i T = ) MV S 5 H | B ] & P 1 G
Azt B Hifli AR it
Y5 (RC-40) 2t-4tH 0.5 m3 6,130 3,065 | A1480
v ) —h Fcl8 S=15 MEI#E 0.3 [m3] 18,800 5,640 | A1486
IR FH BHEER — 6,750 | A1493 0.5{ 13500 6750
V)Y —METEREBAL : 7=y ABLAHE) Fc=21 S=15 M+H(EY7) 3.4] m3 21,300 72,420 [ (D
YY)V TR AR ZAE] 90,000 180,000 | A1546
A I (R 5 P Al IE. 21-15 —27-15 — 4,080 | A1560 3.41 1200 4080
Mol SR RO (—feT— A -BET)  FLpE 3.5 nd 3,280 11,480 | A1573
FIHOMEE S H(CTE) RO (—feT—Av - BET)  FLpE 9.1 nt 3,410 31,031 | A1584
FI R E AT C T AT FIEVHAN —= 4,820 | A1603 9.1 530 4823
T P fif AL T —3 2,900 | A1606 12.6 230 2898
TIAIAMTIA S T AZAHFE20mm 3.8 ni 8,280 31,464 | A1608

353,650




P (R -3 H)
4 g g B STk B % | HAr =i & 1 o
Az B Hifli Bt 3t
HIBEAHD-10 SD-295A 0.09] [t] 92,000 8,280 B
HIBEAHD-13 SD-295A 0.02] [t] 90,000 1,800 B
S RN TR ST RS EY) TERRE IR 0.11] ® 84,200 9,262 | A1642
TERE AHLLT —3 440 | A1660 0.11F 4000 440
K= 7V —hEE UL RIS 79| m 510 4,029 | (2
HEL 72 A H:1,800 N iffisa s e 79 m 31,400 248,060 | A4317
/N E 648,706 |3¢9/NEf 6912

271,871




H (e - B Ai )
g4 B = S B | BAL Al & 14 o
AT B Hifli A

3.CIX[H]
belibig — i —3L 630 | A1088 1.7; 367.73 625.14
EHUE SRR E Te) @RCiE HR{IEDH. — 360 | A1090 1.7) 214.69 364.97
irssil) Bty 570.13~0.28m3 1.7] (m3) 910 1,547 | A1416
HRL bR/ 870.13~0.28m3  Aond 0.9] (m3) 1,820 1,638 | A1428
TR A A BNy 570.13m34 " 7 v Ty /2t HE 0.8] (m3) 3,250 2,600 | A1445
REER A 1ALy B 0.8] (m3) 2,880 2,304 | A1447 | %9

9,079



aull
P=si

(L - A )
g4 B = S B | BAL Al & 14 G4
AT B Hifli A
Y5 (RC-40) 2t-4tHE 0.2| m3 6,130 1,226 | A1480
B )—t Fcl8 $=15 M+t (k" 7") 0.1] m3 18,800 1,880 | A1488
VPNV TITERE AR iE) 90,000 90,000 | A1489
VYU —METEREBNL : 7 A L) Fc=21 =15 M+Ht(E" 7) 0.7] m3 21,300 14,910 | (D
Y)YV TR AR 2| [ 90,000 180,000 | A1546
8 X A B A 1 — 840 | A1560 0.7i 1200 840
T B RCHEREY) (R T— A - BER)  FERENR 3.3| nof 3,280 10,824 | A1573
FIBOME: BB (CTE) RCHEREY) (- T— A - BER)  FERENR 2.1 nof 3,410 7,161 | A1584
F1 e e & C Aif H AW —3k 1,110 | A1603 2.1 530 1113
T e A AHLL T —3\ 1,240 | A1606 5.4 230 1242
TIABAMTIAR 7284 MNE20mm 0.1 nf 8,280 828 | A1608

310,019




P (R -3 H)
4 g g B STk B % | HAr =i & 1 o
Az B Hifli Bt 3t
HIBEAHD-10 SD-295A 0.02] [t] 92,000 1,840 B
HIBEAHD-13 SD-295A 0.01] [t] 90,000 900 B
S RN TR ST RS EY) TERRE IR 0.03] ®© 84,200 2,526 | A1642
TERE AHLLT —3 120 | A1660 0.03f 4000 120
K= 7V —hEE UL RIS 2.8 m 510 1,428 | (2
HEL 72 A H:1,800 N iffisa s e 2.8] m 31,400 87,920 | A4317
/N E 413,832 [3%9/NEF 2304

94,734




H (e - B Ai )
g4 T = W BV S B | BAL Al & 14 o
AT B Hifli A

4.DIX[H]
belibig — i —3L 6,910 | A1088 18.8{ 367.73 6913.32
SHUE SRR E ) QRCitE SRIED I —-Y 4,040 | A1090 18.81 214.69 4036.17
irssil) BB 7570.13~0.28m3 22.3| (m3) 910 20,293 | A1416
HRL bR/ 870.13~0.28m3  Aond 12.4] (m3) 1,820 22,568 | A1428
TR A A BNy 570.13m34 " 7 v Ty /2t HE 9.9] (m3) 3,250 32,175 | A1445
REER A 1ALy B 9.9] (m3) 2,880 28,512 | A1447 i 39

114,498




P (R -3 H)
4 i T = G R B % | HAr B & i o
Az E% L
O HIZE (RC-40) 2t- 4t HL 2.2] m3 6,130 13,486 | A1480
¥av -t Fcl8 S=15 #M+EEMRGR YV 7") 1.1] m3 18,800 20,680 | A1488
Y —bFTERERAL : 7V AFERE) Fce=21 S=18 #+E (R 7") 8.1 m3 21,300 172,530 | (1)
1 A R A I —3X 9,720 | A1560 8.1 1200 9720
Wl SR RCIERM(—fxT—Av - BER)  HffEs 34.5) of 3,280 113,160 | A1573
FIRCRIR: SRR (CHE) ROEEM (T A -BER)  JLphEs 21.7] ot 3,410 73,997 | A1584
IR & C R A HEWEAD —3 11,500 | A1603 21.7 530 11501
TPy AELLF —xK 12,900 [ A1606 56.2 230 12926
TIAIAMTIAS 528 AMNE20mm 0.2 nf 8,280 1,656 | A1608

429,629




P (e - B )
4 g g B STk B % | HAr =i & 1 C2)
Az B Hifli Bt 3t
HIBEAHD-10 SD-295A 0.24] [t] 92,000 22,080 B
HIBEAHD-13 SD-295A 0.09] [t] 90,000 8,100 B
S RN TR ST RS EY) TERRE IR 0.33] ® 84,200 27,786 | A1642
TERE AHLLT —3 1,320 | A1660 0.331 4000 1320
Kiga 7V —hE UL BT 31.3] m 510 15,963 | (2)
HEL 72 A H:1,800 N iffisa s e 31.3] m 31,400 982,820 | A4317
N F 1,602,196 |3%9/\8Fi 28512

1,058,069



H (L - A )
g4 B = S B | BAL Al & 14 o
AT B Hifli A

5.EX[H
belibig — i —3L 2,720 | A1088 7.40 367.73 2721.2
SHUE SRR E ) QRCitE SRIED I —-Y 1,590 | A1090 7.41 214.69 1588.71
irssil) Bty 570.13~0.28m3 7.3| (m3) 910 6,643 | A1416
HRL bR/ 870.13~0.28m3  Aond 3.3| (m3) 1,820 6,006 | A1428
A ER R AR BN v 7870.13m3% V7 M v 2t HL 4.0] (m3) 3,250 13,000 | A1445
REER A 1ALy B 4.0] (m3) 2,880 11,520 | A1447 | %9

41,479




H (5L - R D)
% i T = ) MV S 5 H | B ] & P 1 G
Azt B Hifli AR it
O ZE (RC-40) 2t-4tH 0.9/ m3 6,130 5,517 | A1480
v ) —h Fcl8 S=15 MEI#E 0.4] [m3] 18,800 7,520 | A1486
IR FH BHEER — 6,750 | A1493 0.5{ 13500 6750
V)Y —METEREBAL - — % - o T4) |Fe=21 S=18 M+t 7") 2.5| m3 21,300 53,250 | A1540
YY)V TR AR ZAE] 90,000 180,000 | A1546
T8 AR R P Al —3L 3,000 | A1560 2.51 1200 3000
Mol SR RO (—feT— A -BET)  FLpE 11.5| nf 3,280 37,720 | A1573
FIHOMEE S H(CTE) RO (—feT—Av - BET)  FLpE 3.7 nd 3,410 12,617 | A1584
FI R E AT C T AT FIEVHAN —= 1,960 | A1603 3.7 530 1961
T P fif AL T —3 3,500 | A1606 15.2 230 3496

311,834




P (e - B )
4 g g B STk B % | HAr =i & 1 o
Az B Hifli Bt 3t
HIBEAHD-10 SD-295A 0.07] [t] 92,000 6,440 B
HIBEAHD-13 SD-295A 0.04] [t] 90,000 3,600 B
S RN TR ST RS EY) TERRE IR 0.11] ® 84,200 9,262 | A1642
TERE AHLLT —3 440 | A1660 0.11F 4000 440
Kiga 7V —hE UL BT 12.3[ m 510 6,273 (2
HEL 72 A H:1,800 N iffisa s e 12.3] m 31,400 386,220 | A4317
g2 765,548 |%¢9/NGF! 11520

412,235




P (R -3 H)
4 i T = G R B ¥ | WL B & i o
Az B L i
a2 SMiE I LED S fE
(AXD
7 0y RESENAVERD w=200LL 26.00 m 950 24,700 | A2665
(BIXf)
#3450%450%680 + T JLps T4k
BESY 2 Fir Kt v 77870.13~0.28m3 1| 751 16,300 16,300 | A4357
BES 2 Fy
CRERR A 405 IR 1| 7Pt 810 810 | A4358 i 9
HEAN AT VP ¢ 150 #RHI SR #edt 48] m 4,180 20,064 (3
HEARANA7" ¢ 150
CRERR A H405)) IR 4.8] m 48 230 | &) %9
HEARNAT VP ¢ 250 #REI SR #pedt 5.4 m 9,290 50,166 | (5)
HEARANA7" ¢ 250
CRERR A H405)) IR 5.4 m 140 756 | (6) %9
B R L% 6 300 L »frF 9,510 9510 @
S VNS T uREs T 7 VU 1| #Hr 2,790 2,790 | (8
(EX[H)
18-15 W100%H350%1.2.8m
B [21 e /A + T ELATVHI-DI0, Flff, Bkt —3{ 10,600 | (9)
it 135,926 |39t 1796

135,926




2 A (RS- A )

4 g g B STk B % | HAr B Al & i o
Az B Hifli Bt 3t

a—3. F Dt

(AXD

LFoE TR TE 7% +JZ50mm 26.0] nf 420 10,920 | A1439

(BIX[H)

T 5T TR A 7% 1 JZ50mm 7.9 of 420 3,318 | A1439

BESRVE K L~V 23 $ 600 <V h—NVZE A 1| »#Pr 16,400 16,400 | (10)

30,638



H (R -3 H)
4 i T = G R B % | HAr B & i o
Az B Hifli Bt i

(CIX )
ERt<) AN+ 0.1| (m3) 4,900 490 | A1438
T Hfo5e TR %+ J=50mm 2.8 nf 420 1,176 | A1439
R A Ktk 97890, 13m34 7 Ty 2t . 0.1] (m3) 3,250 325 | A1445
AR A RSy IR 0.1] (m3) 2,880 288 | A1447 | %9
O Hh 2 (RC-40) 2t- 4t H 0.1] m3 6,130 613 | A1480
a7y =} Fc=18 S=15 ¥ EIE 0.1] [m3] 18,800 1,880 | A1527
FIEX T YRR EEER —3 6,750 | A1562 0.5{ 13500 6750
IAY—Ayya 6 6mm150%150 1.1 nof 1,220 1,342 | A1647
{HE B o E BYE20mm & {7 H:90mm 2.4] m 1,370 3,288 | A1834
Ky y)—bE B BT WY T B 1.1] (nf) 520 572 | A2638

16,724




H (R -3 H)
4 g g B STk B % | HAr =i & i o
Az B Hifli Bt 3t
(DX )
R A L TER ANJ1+T 27 Nyt 0.5] (m3) 3,660 1,830 | A1446
TH5 TR s 7% 1 /=Z50mm 3.3 ot 420 13,146 | A1439
R A TER SN Y 7890.13m3% V7 My ) 20 F. 0.5] (m3) 3,250 1,625 | A1445
AR A RSy IR 0.5] (m3) 2,880 1,440 | A1447 1 %9
AOFHIZE (RC-40) 2t- 4t HL 0.5 m3 6,130 3,065 | A1480
a2 ))—h Fc=18 S=15 ¥kIE 0.5] [m3] 18,800 9,400 | A1527
TAY—Ayya 6 6mm150%150 4.9 ot 1,220 5,978 | A1647
{HiE B o IE B E20mm & {FH:90mm 1.4 m 1,370 1,918 [ A1834
Ky y)—bE B BT WY T B 4.9 (i) 520 2,548 | A2638
RERENVIVEY JZ50mmipl E 5| A E AT AL 4.1| of 3,610 14,801 | A2656

55,751




H (R -3 H)
4 g g B STk B % | HAr =i & i o
Az B Hifli Bt 3t
180PNIE K ONRES  + T H M T4t
UTEAI Ktk v7570.13~0.28m3 9.1l m 6,860 62,426 | A4429
UTE AR G R R A 405y IR 9.1] m 290 2,639 | A4430 i %9
240NME J QRS + T TRt
UJ AR Ktk v78570.13~0.28m3 20.1] m 8,070 162,207 | A4432
UTEANE G s AR 1 40L5y) IR 20.1] m 400 8,040 [ A4433 | %9

235,312




aull
P=si

(L - A )
g4 B = S B | BAL Al & 14 G4
ATE BN Hifi H%Cs it
(EXH)
J&EED AN+ET 0.6] (m3) 4,900 2,940 | A1438
T HOE [ R, % 1JZ50mm 11.7] nof 420 4,914 | A1439
RER A T AN+ T ZVv7Ngyyot s 0.6] (m3) 3,660 2,196 | A1446
R A ALy AR 0.6] (m3) 2,880 1,728 | A1447 | 39
o FI 2 (RC-40) 2t 4tHE 0.3 m3 6,130 1,839 | A1480
2y Y —bETER IR - +-H) Fc=18 S5=15 M+t 7) 4.0] m3 19,600 78,400 | A1529
A PY MRV TR AR 1 [\ 90,000 90,000 | A1546
TIRIAMTIAE 7 A4 AMNE20mm 2.3 nf 8,280 19,044 | A1608
B0 IEDERT D13@500 D133= — 33,900 | (23)
IAY—Ay¥a ¢ 6mm150%150 38.2| nf 1,220 46,604 | A1647
Ry )Y —ME LA B MRy it E 38.2| (i) 520 19,864 | A2638
7 ny) RIGENI VD w=200LL F 16.3] m 950 15,485 | A2665

316,914




P (R -3 H)
4 i T = G R B % | HAr B & i o
Az B L i
233003004420 + T LA T 54t
BES 2Py A1+ 1| 7FT 12,300 12,300 | A4353
BRI
G2 34 HAL5Y) PRt 1| 797 260 260 | A4355 i %9
150 ME M QRS + T Aeps T 54t
UJ AR AN +T 17.5| m 7,820 136,850 | A4425
U G R 3 AR 40 50) IR 17.5| m 290 5,075 | A4430 i %9
ESAVEVY H=1800 KAkt 3.3 m 14,000 46,200 A
FHER % 1200011300
BHER A MERR i, FEVAY—1E IRk —xK 125,000 A
7T N BEER AV D)
365T56A40mm H
BHER 3y T % Fffu—7° ¢ 44t 63.8] nf 2,480 158,224 A
Aoty =T Y —HEx 38mnt A —3X 30.7| m 3,520 108,064 A
i 1,247,312 |95t 19470

591,973




N B (e~ 2 )

g4 PR LT U B 7 B | BAL Al & 14 G4
ATE BN Hifi H%Cs it
a—4. /i E
1 A —-Y 359,283 |%¢10/hgH 49986
2 MBI S —3 124,235 |3%10/h3F 26766
3. Z DA —3{ 571,263 [10/haH 251712

1,054,781 | %108+ 328464

g
1,054,781



H (L - BRI )
% R LT U B 7 B | BAL i & it} D
An-b A% LMY SN it
IWANilIES

D.AX[H —3 127,289 |310/hgk 20520
2).CIX [#] — 20,664 310/ 1836
3).DXfiil —3 149,836 [310/gF 23040
4).EX [ —3 61,494 [310/héH 4590
A E 359,283 |%10/gk 49986

359,283




N A (e - 320 )

% i T = ) MV S 5 H | B ] & P 1 o
As-b B Wi AR it

D.APX[H]
(A-1)
CBHitZ: N7V 0.1 (m3) 16,900 1,690 | A4614
SLREE W=300F2 % t=50 0.8| m 1,010 808 | (11)
v )Y 7 iE BEBRFE A 2t B 0.1] (m3) 8,420 842 | A4887
)Y =M 7Ly FeFERE 0.1] (m3) 3,060 306 | A4891 i 3%10

3,646



2 " (55 B
% P o HOFIE B % | Bz ] & P 1 G
Azt B Hiffi  H%est it

(A-2)
CBiiE N7V —hilE 1.0| (m3) 16,900 16,900 | A4614
LA W=300F2FE t=50 9.2 m 1,010 9,292 | (11)
)Y 7 iE BEBRFE A 2t B 1.1] (m3) 8,420 9,262 | A4887
)Y =M 7Ly FeFERE 1.1) (m3) 3,060 3,366 | A4891 | 310

38,820




H (5L - R D)
% i T = ) MV S B % | Bz ] & P 1 G
Azt B Hifli AR it
(A-3)
CBiiE N7V —hilE 1.7] (m3) 16,900 28,730 | A4614
SEEE W=300F2FE t=50 16.0] m 1,010 16,160 | (11
BEM TE (S B <) BAA 2t B e 0.9] (m3) 8,810 7,929 | A4851
PEM ALy (B <D FeFERE 0.9] (m3) 12,600 11,340 | A4855 1 310
v )Y 7 i BEBRFE A 2t B 1.8] (m3) 8,420 15,156 | A4887
)M 7Ly e o 1.8] (m3) 3,060 5,508 | A4891 § 310
A E 127,289 [10/h& 20520

84,823




N 5 (R B )

4 g g B STk B % | HAr =i & i o
Az B Hifli Bt 3t

2).CIX[H
CBHiZE I ANVA G L 0.6] (m3) 16,900 10,140 | A4614
FpEE W=300F2E t=50 3.6] m 1,010 3,636 | (1
Y= T IER FEARFE A 2t B 0.6] (m3) 8,420 5,052 | A4887
a7 =M1 T84y R 0.6 (m3) 3,060 1,836 | A4891 | 3%10

N E 20,664 |%10/h3H 1836

20,664



2 " (a5 - P 1)
% i T = ) MV S 5 H | B ] & P 1 o
Azt B Hifli AR it

3).DXH
D-1)
AR NT - FE 2.6| () 1,570 4,082 [ (12)
v )Y 7 iE BEBRFE A 2t B 0.1] (m3) 8,420 842 | A4887
)Y =M 7Ly FeFERE 0.1] (m3) 3,060 306 | A4891 i 3%10

5,230




AN 5 (- i)
% i T = ) MV S 5 H | B ] & P 1 G
Azt B Hifli AR it
(D-2)
AR NANT V- R 17.8] (nd) 1,570 27,946 | (12)
)Y 7 iE BEBRFE A 2t B 0.8| (m3) 8,420 6,736 | A4887
)Y =M 7Ly FeFERE 0.8| (m3) 3,060 2,448 | A4891 i 310

37,130




H (5L - R D)
% i T = ) MV S 5 H | B ] & P 1 G
Azt B Hifli AR it
(D-3)
AR NANT V- R 38.1| (i) 1,570 59,817 | (12)
BEM T (S B <) B AA 2t B e 1.1| (m3) 8,810 9,691 | A4851
PEM ALy (B < T FeFERE 1.1] (m3) 12,600 13,860 | A4855 1 310
v )Y 7 iE BEBRFE A 2t B 2.1| (m3) 8,420 17,682 | A4887
)Y =M 7Ly FeFERE 2.1| (m3) 3,060 6,426 | A4891 i 310
A E 149,836 [10/h& 23040

107,476




2 " (a5 - P 1)
% i T = ) MV S 5 H | B ] & P 1 G
Azt B Hifli AR it

4). E[X [H]
(E-1
AR NANT V- R 22.1| (i) 1,570 34,697 | (12)
)Y 7 iE BEBRFE A 2t B 1.2| (m3) 8,420 10,104 | A4887
)Y =M 7Ly FeFERE 1.2| (m3) 3,060 3,672 | A4891 i 310

48,473




N 5 (R B )

4 i T = G R B % | HAr B & i o
Az E% L i
(E-2)
LA R ES NNT V== kgt 6.1 (nd) 1,570 9577 (12)
Y= T IER FEARFE A 2t B 0.3| (m3) 8,420 2,526 | A4887
Y= TSy IR 0.3| (m3) 3,060 918 | A4891 i %10
/N E 61,494 [%10/h3f 4590

13,021



H (L - fii M)
g4 PR T = RS B B ¥ | HAL B Afh ol 1
Al B B3t

2 MBI S
(BIX[H)
EAVENRS e Sy 7.9 m 250 1,975 | (13)
R ZK BB TR 800%800%500 A 6,330 12,660 | (14)
Ul i s A 2.0 (m) 110 220 | A4704
HRER BB A 7.3] (m) 6,300 45,990 | (23)
TR ZHEN Y IEY) )8 40cm PA_F60cm A 1| ) 4,880 4,880 | (15)
TR ZHEN Y IEY) #2[0]190cm ~ 105cm A 1| ) 8,120 8,120 | (16)
PEA e (R < 47D P REIA 2 B e 0.4] (m3) 8,810 3,524 | A4851
PEM AL (<47 ) FIEEL 0.4] (m3) 12,600 5,040 | A4855 § 310
)Y 7 PP FE A 2t e 0.6] (m3) 8,420 5,052 | A4887
)b 7Sy HIEL 0.6] (m3) 3,060 1,836 | A4891 | 310
PEM R CEA - iR > F-) P ABRIA 2 B e 1.0| (m3) 10,000 10,000 | A4959
BEM ALY (EA - iR > ) HIEL 1.0| (m3) 18,900 18,900 | A4963 i 310

118,197




N 5 (R B )

4 i T = G R B % | HAr B & i o
Az B L i

(EXf4)
I AVEVS & KAEhyb 0.4] m 250 100 ] (13)
a7 —MIRR KT V=hnv N7 V= H 0.2 (m3) 5,340 1,068 | A4592
Jyi— A ) —=bfj JEE20~30mm( R hyh—) 2.8] (m) 690 1,932 | A4628
FEbt iR (4 B <358 MRS A 2t BT 0.03[ (m3) 8,810 264 | A4851
BER WL (A R < 35R) IR 0.03] (m3) 12,600 378 | A4855 i %10
)= T IE FEARFE A 2t B 0.2| (m3) 8,420 1,684 | A4887
Y= TS IR 0.2| (m3) 3,060 612 | A4891 i %10

N E 124,235 [3%10/h3H 26766

6,038



(5t - i D)

4 i T = G R B ¥ | WL B & i 5
A=} E% L i

3. Z DA,
(AXD
[ 106] i 440 46,640 | (17)
BHER#v M IAY—4k 21.0) of 120 2,520 | (18)
BEAERORS 37, MRS ) <EZEBE
=Y FEARFE A 2t B 0.5 (m3) 4,200 2,100 | A4824
BEAERORS 37, MRS ) <EZEBE
=Y IR 0.5] (m3) 16,200 8,100 | A4828 i %10
BER TEWR(BE 7T AT v/ $H) FEARFE A 2t B 0.4 (m3) 4,200 1,680 | A4842
BER Wy (BE7°T AT v I $8H) IR 0.4 (m3) 17,100 6,840 | A4846 § %10
BERiEW (& E<T5H) FEPFE A 2t B 0.7] (m3) 8,810 6,167 | A4851
BERt 8Ly (4 B < 375H) IR 0.7] (m3) 12,600 8,820 | A4855 i %10
BEMEM (A -5 ) R FE A 2t B 1.0] (m3) 10,000 10,000 [ A4950
BEA WLy (R - ) BEER 1.0] (m3) 18,900 18,900 | A4954 i %10

111,767




H (L - fii M)
g4 PR T = RS B B ¥ | HAL B Afh ol 1 G2
As-b B WM A%est it
(BIX[H)
M A7 A H=3000 7.5 (m) 640 4,800 [ (19)
BBkt MiE Sttt 31.5| nf 120 3,780 | (20)
A ECN 1Y) #2[A]120cm ~ 135em Al 2| () 14,400 28,800 | A4813
BE M (B 7T A F v ) 4E) PR A 2t F e il 0.2| (m3) 4,200 840 | A4842
BEM AL 53 (BE7°T 2 F 9/ ¥5) FIEEL 0.2] (m3) 17,100 3,420 | A4846 | 310
Y- 7 iE P RIA 2 B e 0.2] (m3) 8,420 1,684 | A4887
)b 7Sy FIEEL 0.2] (m3) 3,060 612 | A4891 | 3%10
PEMTE IR CEA - 24 P REIA 2 B e 6.5 (m3) 10,000 65,000 | A4950
BEA AL 53 (CEA - A FIEEL 6.5| (m3) 18,900 122,850 | A4954 i 10
PEM R (EA - iR > F-) PBRIA 2. B EH 2.7| (m3) 10,000 27,000 | A4959
BEMALGy (EA - iR > ) HIEL 2.7| (m3) 18,900 51,030 | A4963 | 10
T FEIA 2 P ABRIA 2. B e 0.4 9,440 3,776 | A4972

313,592




N A (e - 320 )

% i T = ) MV S 5 H | B ] & P 1 o
As-b B Wi AR it
(CIX[H)
) —Mig i KT V=7 VA 0.1 (m3) 5,340 534 | A4592
- AR 2y —bifi JEX20~30mm(H b hyE—) 2.4] (m) 690 1,656 | A4628
v )Y 7 iE BEBRFE A 2t B 0.1] (m3) 8,420 842 | A4887
)Y =MLy FeFERE 0.1] (m3) 3,060 306 | A4891 i 3%10

3,338



H (L - fii M)
g4 PR T = RS B B ¥ | HAL B Afh ol 1 G2
As-b B WM A%est it
(DIX[H])
fav ) - Mg KT V=7 VA 0.5| (m3) 5,340 2,670 | A4592
nyi— A 1))~ JEE20~30mmO b hys—) 21.9] (m) 690 15,111 | A4628
IRENGIV - RABEE iR 0.2] (ni) 1,900 380 | A4633
Ul i s A 29.2] (m) 110 3,212 | A4704
TR ZHEN Y IEY) #2)# 40cm PA_F60cm A 1| ) 4,880 4,880 | (15)
TR ZHEN Y IEY) #2[A]90cm ~ 105cm A i 1| ) 8,120 8,120 | (16)
FEMIEIR (D N EHF) P REIA 2 e 0.2] (m3) 8,600 1,720 | A4878
BEM AL 5y (D3 & H5) FIEEL 0.2| (m3) 15,300 3,060 | A4882 | 3%10
)Y - iE P REIA 2 B e 1.5 (m3) 8,420 12,630 | A4887
)b 7Sy HIEL 1.5| (m3) 3,060 4,590 | A4891 § 310
PEM R (EA - iR > ) P ABRIA 2. B e 1.0| (m3) 10,000 10,000 | A4959
BEM ALy (EAR iR > F) HIEL 1.0| (m3) 18,900 18,900 | A4963 i 310

85,273




H (5L - R D)
% i AT Y 5 H | B ] & P 1
As-V EM Bt

(EIX[H#)
) —Mig i KT V=7 VA 0.6] (m3) 5,340 3,204 | A4592
CBiiE VAN e FE] 0.3] (m3) 16,900 5,070 | A4614
A=At 2y b JEX20~30mm(y b hyE—) 34.7| (m) 690 23,943 | A4628
TAVA VI 2.9 (m) 1,900 5510 | @D
R KA 250%250%300 1| »FT 5,170 5,170 | (22)
U-NEE AT) 1.8] (m) 930 1,674 | A4706
PEA SR (AN AL EHE) BEBRFEA 2t B 0.1] (m3) 8,600 860 | A4878
PER AL (D3 ESE) e o 0.1] (m3) 15,300 1,530 | A4882 i 3%10
)Y 7 i BEBRFEA 2t B 0.9] (m3) 8,420 7,578 | A4887
)M 7Ly FIEEL 0.9] (m3) 3,060 2,754 | A4891 i %10

A E 571,263 |%10/hgk 251712

57,293




